02 6 12 20m

S e e ]
SCALE:1/800

Ho
H32EZY  |26.69.8
EN 6,423.3
TS| 919 1w | 1702
712 | EE 1,204 4 | 1702
713 | HHH | 453.3m | 1704
T4 | A BA| g2 5m| 1704
T = 3,674m
N 932.8
o [soEs] o938 7ML
2~ A 244..0
1 [ZZER 40m | T0E
-1 | Tt} IHES
®-2 | Zaz} 17H &
®-3 | otaz} 170 &~
®-4 | otaz} 170 &~
-5 | Zarzf 1704
-6 | Tzt 172
®-7 | ota1ef 170 &~
1] FAA 24m | 1702
c-2| &AHx~ 26m | 1702
o3| FAx 26m | 1742
c-4[ A& 26m | 1702
c-5| A~ 26m | 1702
C-6] &Hx 35m | 17
@ | OFQEtR} 1270 A
® | ¥ X 5671 4
@ | =4 PR ES
® |dYUH3 41w
N 1,261.5
2t 2237 998m
o1 [Aetes] 30m
I IEEEEE RS
O3 [dadet=s 29m
Ol-4 W2ty 65m
O-5 |#zjetdz 20w
OF-6 |Mlzfets 20w
OF-7 |M2dchds) 20w
O}-8 |#zjetdz 21.5m
OF-9 [Mlzdctads) 26w
® AciEAll
~ A 653.0
2 SAE | 473m | 174
@ Jorelrh | 180m | 170
2 A 251.0
ot | FxpE 251 m
e 3N
=~ A 72.0
©® | orfimE SRS
3 | Aol 36m
a2/S 647
-1 [ =74 18m'
-2 | =7 15
@ | otz 15
® | =ai= 5170
P 18m| 1=
=7 o JJe &~ A 16,859.2
= A 116,859.2




02 6 12 20m
S e e ]
SCALE:1/800

MSaz|ag
! o™
Ho
He2e3d  |26.69.8
E 6,074.0
JHT [T EE 480.8m | 1715
-2 [T HE N 294 4m | 1702
74| FdBF| s2.5m| 1=
A [olSLT] 542.3m | 170
T = 3,674m"
S I 2461
Lf [HpEHES] 246 1m [ 170
2~ A 284.6
1 [=ZI R} 40m | 170X
®-1] ztaef (EES
®-2 | mtaa} 1702
®-3 | mtaet 1704
-4 | otoe} 170 A
-5| ot} 170 2
-6 Zaef 170
-7 | Tz} 170 &
@® [olof7|&lEl 40.6m | 270
CHT| FAE 24m | 1712
ch-2| A2 26m | 17
ch-3| A 26m | 170
cl-4| EAA 26m | 1704
ck-5| A 26m | 1702
c-6| FAI2 35m | 17 A
@ | ofQEfX} 1270 &
® | # X 5670 4~
® AH=2H 270 A&
® |[MaH3 M
23N A 108.6
ot [got=ole] 108.6m
2EAM ~ A 1,714.8
2t (AT 998 m*
RIEEEER IR
of-2 |dzeesd 33w
O-3 [#l2dctad & 29m’
of-4 |decEy  65m
of-5 [dadcteis] 20w
of-6 |dEcEy  20m
of-7 [dadcteis] 20w
of-8 |dejcteisy 21.5m
OF-9 [Madcteis] 25w
CIEEEERE
AL | =3m | 453.3m | 1
2~ A 653.0
2 | =Mz 473m | 1704
@ [orel2ch | 180w [ 17H2
2~ A 251.0
o | FXE [ 251.0m
s+ B ES
= A 72.0
@ OFLH mt VBN
3 | ®MoA 36m
SeE 647]
-1 | A=A 18m'
-2 | e=o7A 1=
[CEEEESS 1=
® | =ajc 51702
=gl 18m’ 1=
siaggl A A 17,292.7
5= A 17007




